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General Instructions:
» This is a Subjective Question Paper containing 12 questions.
» This paper contains 4 questions of 2 marks each, 4 questions of 3 marks each and 4
questions of 5 marks each.

» 2 marks questions are Short Answer Type Questions and are to be answered in 30-50 words.
» 3 marks questions are Short Answer Type Questions and are to be answered in 50-80 words.
» 5 marks questions are Long Answer Type Questions and are to be answered in 80-120 words.
» This question paper contains Case/Source Based Questions.
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Alpha Enterprises is a company manufacturing water geysers. The company has a functional
structure with four main functions-Production, Marketing, Finance and Human Resource. As the
demand for the product grew, the company decided to hire more employees.

Identify and Explain the concept which will help the Human Resource Manager in deciding the
actual number of persons required in each department.
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Squib Ltd. is a large creditworthy company operating in the Kashmir Valley. It is an export-
oriented unit, dealing in exclusive embroidered shawls. The floods in the Valley have created
many problems for the company. Many craftsmen and workers have been dislocated and raw
material has been destroyed. The firm is therefore, unable to get an uninterrupted supply of raw
materials and the duration of the production cycle has also increased. To add to the problems of
the organisation, the suppliers of raw materials who were earlier selling on credit are asking the
company for advance payment or cash payment on delivery. The company is facing a liquidity
crisis. The CEO of the company feels that taking a bank loan is the only option with the company
to meet its short-term shortage of cash.
As a finance manager of the company, name and explain the alternative to bank borrowings that
the company can use to resolve the crisis.
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The workers of Gargya Ltd. are unable to work on new computerised machines imported by the
company to fulfill the increased demand. Therefore, the workers are seeking extra guidance from
the supervisor and the supervisor is overburdened with frequent calls of the workers.

Suggest how the supervisor, by increasing the skills and knowledge of workers, can make them
handle their work independently.
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AT B?
How does controlling help in “Judging accuracy of standards” and “Ensuring order and discipline”?
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Identify the elements of directing in the following cases:

1. Arun who is the departmental head of his organisation decides to improve the performance
of his department. He decides to give some financial and non-financial incentives to his
subordinates. He knows these incentives will satisfy their needs. Therefore they will be
stimulated to take actions from their side.

2. Rajeevis an HR manager leading a team of 12 people. He knows that the duties and
responsibilities of an HR employee are challenging. He knows in order to make his team
work with a positive frame of mind, he will have to set a personal example as a role model
and influence their behaviour and working style to increase the output of his team.

3. Priya and Raghav are discussing about an element of directing. They say that without this
element no group or people can achieve a common understanding. This element requires
effort from both the sides and consumes 90% of the time of a manager.
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How directing helps in efficient and effective functioning of the organisation? Explain by giving
any three points.
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What is meant by financial incentives? State any two financial incentives.

Tl sheril &l it EIAT & oA ohl THTTAT el dlel Shal clle hRehl bl HETT & HAATST|

Explain briefly any three factors which affect the choice of capital structure of a company.
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‘AS Ltd.” is a large company engaged in assembling of air-conditioners. Recently the company had
conducted the ‘Time” and ‘Motion’ study and concluded that on an average, a worker can
assemble ten air-conditioners in a day. The target volume of the company in a day is assembling
of 1,000 units of air-conditioners. The company is providing attractive allowances to reduce
labour turnover and absenteeism. All the workers are happy. Even then the assembling of air-
conditioners per day is 800 units only. To find out the reason, the company compared actual
performance of each worker and observed through CCTV that some of the workers were busy in

gossiping.

1. Identify the function of management discussed above.
2. State any two steps in the process of the function identified which are discussed in the
above paragraph.

T HiaaA IUHIFAT & T H, 39 '3’ TS § Igel fohdl YR & 0T FATUTT gt v
T har? S 5 foig fAfése Y|
As a well-informed consumer, what kind of quality certification marks you will look for before
buying ‘products? Specify any 5 points.

3Ydi/OR
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fRIRIICT Yl & 3R 3USIFAT 37eTelc RISII Sl aTEdehdl & HJSC &, ol 38 3TeTst feheel
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Reena purchased one litre of pure desi ghee from a shopkeeper. After using it, she had a doubt
that it is adulterated. She sent it for a laboratory test which confirmed that the ghee is

adulterated. State any five reliefs available to Reena, if she complains and the consumer court is
satisfied about the genuineness of the complaint.

10

HET STSTR & fehegl 9re JAT T Soeid ST |

State any five instruments of Money Market.

11.
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&1 o ST <ol & | AT €Y, S8 TROT & §Te; TohT STt aTel 37aTel cllel TROM o1 8T 3eolg |

Owing to the increased workload after demonetisation, the income tax employees of Karnataka




and Goa region had urged the centre to increase manpower of the |I-T department by filling up
35% vacancies which were laying vacant. As there were confirmed reports about misuse of bank
accounts, foreign exchange mechanism, gold purchases and adoption of various other dubious
means for investing the unaccounted cash.

In context of the above case:

1. ldentify and explain the function of management being discussed in the above lines.

2. Identify and explain the particular step related to the function of management as
identified in part (1) of the question which has already been performed. Also, state the
next three steps to be performed after this step.

12.
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Arun is a successful businessman in the paper industry. During his recent visit to his friend’s place
in Mysore, he was fascinated by the exclusive variety of incense sticks available there. His friend
tells him that Mysore region is known as a pioneer in the activity of Agarbathi manufacturing
because it has a natural reserve of forest products especially Sandalwood to provide for the base
material used in production. Moreover, the suppliers of other types of raw material needed for
production follow a liberal credit policy and the time required to manufacture incense sticks is
relatively less. Considering the various factors, Arun decides to venture into this line of business
by setting up a manufacturing unit in Mysore.

In context of the above case:

1. ldentify and explain the type of financial decision taken by Arun.

2. Identify the three factors mentioned in the paragraph which are likely to affect the
working capital requirements of his business.
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‘Adwitiya’ is a company enjoying market leadership in the food brands segment. Its portfolio
includes three categories in the Foods business namely Snack Foods, Juices and Confectionery.
Keeping in line with the growing demand for packaged food it now plans to introduce Ready- To-
Eat Foods. Therefore, the company has planned to undertake investments of nearly Rs. 450 crores
for its new line of business. As per the current financial report, the interest coverage ratio of the
company and return on investment is higher. Moreover, the corporate tax rate is high.

In context of the above case:

1. As a financial manager of the company, which source of finance will you opt for debt or
equity, to raise the required amount of capital? Explain by giving any two suitable reasons
in support of your answer.

2. Why are the shareholders of the company like to gain from the issue of debt by the
company?




